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Figure 7: The above plots show the EM updates for o for the emission phantom modeled by a
GGMREF prior (p = 1.1) using (a) conventional Metropolis (CM) method, (b) accelerated Metropolis
(AM) and the extrapolation method. The parameter s denotes the standard deviation of the
symmetric transition distribution for the CM method. All the updates are done using a single
sample of X to compute the expectation. The true ML estimate is the converged value of ¢ when
50 samples are used to compute the expectation.
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Figure 8: The above plots shows the EM updates for ¢ using the accelerated Metropolis method
and the extrapolated value of & for the emission phantom using the logcosh(-) prior with T’ = 10.
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Figure 9: The above plots shows the EM updates for o using the Metropolis method, acceler-
ated Metropolis method, and the extrapolated value of & for the transmission phantom using the

GGMRF prior.

Figure 10: Reconstructed transmission phantom using GGMRF prior
parameter o is (a) 6pz = GeBp, (b) 36MmL, and () 2641
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